B RE =

AERR (2 HkH)

@8I B3k BH1H
QOB ENEE  Hh E50cm
@ I %E 135 Nalo o FL—2avh—_RA(A—4 (B RA49AS—_)LkB)
p: I =
Al E 5 A fr £ #h
R1.109 | R1.116 | R1.124 | R218 | R225 | R23.4
‘’IBTE B4t 0.11 0.12 0.12 0.12 0.11 0.11 | KRFFFAR3-13
MANZLDER B4t 0.08 0.08 0.10 0.09 0.09 0.09 | KFiZA207-2
MERRI7I)—R*X—15| B4 0.07 0.06 0.08 0.07 0.06 0.06 |KXFEATHMAEEEGHA
HEF BRSNS =228 0.09 0.08 0.09 0.08 0.09 0.09 | K=FKE1988
KXNDBY LAE =Y 0.10 0.11 0.11 0.11 0.10 011 | KFERZ1-1
AR—Yt 49— ZE 4 0.10 0.09 0.10 0.10 0.09 0.09 | KFFF22516-36
KREISNHWNAE B4 0.12 0.13 0.14 0.12 0.13 0.13 | KFEFF 22576
hRF=—Xa—k B4t 0.09 0.08 0.09 0.08 0.08 0.09 | KFEFF22516-38
FoHEtL 52— B4t 0.07 0.07 0.06 0.06 0.06 0.06 | KFEKE1988
hIERI N E FF Bk 15 0.07 0.07 0.07 0.07 0.07 0.06 | KFEFFR100
Xt 54— B4t 0.11 0.12 0.11 0.11 0.12 0.11 [ KFEFFZ22567-10
ARERE R IEEHEE B4 0.11 0.11 0.11 0.11 0.10 0.10 | K=F~$72893
Ww&HTSH-BRE B4t 0.09 0.10 0.10 0.10 0.10 0.10 | KR=FFF 225661
DILIN—7—% B4t 0.11 0.12 0.11 0.11 0.10 0.10
=S KRFFFRA45
o>t 32— ZE4 0.10 0.1 0.10 0.10 0.10 0.11
D)= RAT—a Al B 0.08 0.09 0.09 0.09 0.09 0.09 | K=F=EM736-1




B RE =

AERR (2 HkH)

@8I B3k BH1H
QOB ENEE  Hh E50cm
@ I %E 135 Nalo o FL—2avh—_RA(A—4 (B RA49AS—_)LkB)
p: I =
Al E 5 A fr £ #h
H3149 | R15.7 R165 | R1.73 | R1.86 | R1.94
‘’IBTE B4t 0.10 0.10 0.10 0.10 0.10 0.11 | KRFFFAR3-13
MANZLDER B4t 0.10 0.09 0.09 0.09 0.08 0.09 | KFiZA207-2
MERRI7I)—R*X—15| B4 0.07 0.07 0.07 0.07 0.07 0.07 |XFEATHMAEEEGHRA
HEF BRSNS B4t 0.10 0.09 0.09 0.09 0.09 0.08 | K=FKE1988
KXNDBY LAE =Y 0.10 0.10 0.10 0.10 0.10 009 | KFEERZ1-1
AR—Yt 49— ZE 4 0.09 0.08 0.08 0.08 0.08 0.08 | KFFF22516-36
KREISNHWNAE B4 0.13 0.13 0.13 0.12 0.12 0.11 | KFEFF 22576
hRF=—Xa—k B4t 0.09 0.08 0.09 0.08 0.08 0.08 | K=FEFF22516-38
FoHEtL 52— B4t 0.07 0.06 0.06 0.06 0.05 0.06 | KFEKE1988
hIERI N E FF Bk 15 0.08 0.07 0.07 0.06 0.06 0.06 | KFEFFR100
Xt 54— B4 0.10 0.10 0.10 0.10 0.11 0.10 [ KFEFFZ22567-10
ARERE R IEEHEE B4 0.10 0.10 0.10 0.10 0.10 0.09 | KFEE$72893
Ww&HTSH-BRE B4 0.10 0.10 0.10 0.09 0.09 0.09 | KFFF22566-1
DILIN—7—% B4t 0.10 0.10 0.10 0.10 0.10 0.10
— RFFFR45
P55t 2— B4t 0.10 0.09 0.10 0.10 0.09 0.09
D)= RAT—a Al B 0.09 0.08 0.09 0.08 0.08 0.09 | K=F=EM736-1




